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ELECTRICAL ENGINEERING r 

2. 

5. 

PAPER·II 

Wh1ch one of the l"ollowmg•s employed as 
a moderator by CAN'DU type of si0\1 
thermal nuc.lear reactors'/ 
a Water 
b. Heavy water 
c. Grapbito 

d Beryllium 
A power station has maximum Mmand of 
15000 kW, l11e annunl load factor is 50"/o 
and plant capacity factor is 40%. What is 
tbe reserve cnpacit~ of the plam'l 
a 1875 kW 
b 37511 itW 
c. 601!11 kW 
<l 75(Ml kW 

A pO\\·er station's plant load factor is 
delined as U1e ratro or 
a the enei]!.Y generated to U1ai of 

ma~imum energy that could have been 
generatc.d 

b. average load to peak load 
c. muumUJllload to peak. load 
d. minimum load lo average load 
In a 7/30 A. C. SR conductor why is grease 
put between steel and aluminium 
conductors 'I 
a To reduce corrosi\)n bv electrolvtic 

action between Line (gal;•aniswg a-lie.tt 
on steel) and aluminium 

b. To reduce friction betweeu the strands 
c. To reduce leakage or current from 

aluminium strands to steel strands 
d. To el iminate air pockets 
If X is d1e inductive reacCance/phase and R 
is the resistance! phase of a short 
transmission hne, what is the po\\ er factor 
angle or the load for =imwu voltage 
regulation'l 
a" cos-• XIR 
b tan- ' X/R 
c. cos I RIX 

II, 

7 

d tan- ' RIX 
Fo1· a loss-free long trausnussion ljne. dte 
com•enuonal line equadons become. 

II,= (cos PI) V,, ~ (Jsin fJI)J, 

and 1, J j sinfJI )v. +(aosfJ/) 11, 
\ z, 

Which one ol' the following statements Js 
correct') 

If the line is terminated at th~ receiving 
end by ils nattlral load ompednnce z,_ then 
a. the voltage is constant m magnitude at 

all points along the li11e and, V, and V R 

alwavs remrun in phase. 
b. the voll4go is constant •n magnnude at. 

all points along the line but V, 
advances in phase relative to VR by an 
angle 13 radians per km. 

c. the magnitude or the voltage along the 
line changes in proponion to the line­
ler\gth, and lhe V. and Vk always 
remain m phase. 

d. the magnitude of the ' oltage ·along the 
line changes iu proportion to the line­
len_glh. V, advances in phase relative to 
V R by p radians per k.n~ 

What is the approxi mate' alue of the surge 
itnpedance loading of n -lOll kV. 3-phase 
50 Hz overhead single circuit transmission 
11ne'! 
a 23HMW 
b. -100 MW 

c. Jut>llMW 
d. IGOOMW 
Which one or the folio\\ ing statements IS 

correct'' 
The elements of ench row of a Ynt1> matri-x 
for load /'lo" studies in power system add 
up 1.0 1.ero. 
a. always 
b 1f the shunt aduullances ut lhe buses 

are ignored. 
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9 

tO. 

II. 

12 

13 

C If' nJUlUal COUplmgs bel ween 
transmission lines are absent 

d if botb (b) and (c) are satisfied. 
For a syncbronous generatQr connected to 
an mfinite bttS through a transmtssion tine, 
how are the change of voltage ( 6 V) and 
the change of frequency (a!) related to the­
~ctive power (P) and the relative power 
(Q)? 

a. 6 V IS proporttonal to P and M 10 Q 

b AVIS proportional to Q and Af to P 
c Both 6 V and Mare proportional lb P 

d Both A V and ll.f arc proportional 'to Q 

ef--+-- ]-3[ '} 
I> 'h. 

For the system shown in the diagram g1VC11 
above, what is a tbe transformer the line 
side of line-to-ground fault on equivalent 
to "'' 
a. A lin<>-tu-ground fault on the generator 

s1de of the trnnsformer 
b A line-to-line fault on tlte generator 

side of the tnm~former 
c A double line-to-ground fault on ~te 

generator side. <)f the. transfonner 
J. A 3-pbase fault on the gen~rator slde 

of rh~ trnnsfonner 
For which one of the following types of 
motors, IS t·he equal ai'Cit crrterion for 
smbtlity applicable? 
n. Three-phnsesynchrono\c~ motor 
b Thre<>phasc induction motor 
c, D.C. series motor 
d 0 C compound motor 
The S1eady •~<•te stabihty limits for round 
rotor all(! sahenr pole 3-phase S)'nchronous 
generator arc atUlined at the values of 
power angle 15 
a = ni2, and ~ nil , respectively 
b < 1!/2. and < 11/2. respectively 
c < 1!/2. and= 1t/2, respectively 
d = nil. and < 'Ttl'l, re.,peotlvely 
A travelling wave due to lightning with an 
inc-Ident v()ltage V •ravels through the 

14, 

15 

J 6. 

17 

18. 

1 of I) 
overhead. liJle of' surge Impedance of 
•1000 and enters a cable of surge 
Impedance of 40 Q What is the voltage 
entering the cable at the jtrnction'l 
a. VII I 
b. 4 VIII 
c. 2 VI II 
d v 
To prot·ect the power transformer ( V - Y 
With neutral grounded) agamst fault, what 
type of" COilltecnon do the CTs have? 

a. II - Y connection 
b 6- 6 connecUQn 
C, '{-'{ C-OnllectiOU 

d Y -6 connection 
The operating pOint of RJ amplifie.r m an 
A!vl wcelver 1s normally biased in 
a. C'lass-A 
b n'\Ss-J3 
c. Class -C 
d Class 8-C condition 
Whtcb one of ~te following s1gnals can be 
applied to !I delta modulator whose step 
s•ze tS 0, 1 V and sampling frequenqy IS 20 
11 kHz so thnr no slope overload occurs? 

a. 2 sm ( 1200 rrtl 

b. I Stn ( 2600 "') 

c, 3 sm II 000 nt) 

d. 4 sin (400 nti 
A sinusoidal signal widt a random phase Is 
given by -'(L) : A sin [1!/2 - (211 ft ' 6)1 
wi 01the probability density functio11 

{
J/2,T, Os 8 s 2n 

?.,(8) = 
0, OthCIWISC 

What is tbe maxiJiiWI! amplitude of ll1e 
autocorrelal1on function ofthts olgn>l 7 
a. A 
b A/2 
c. A" 
tl. A '12 
Considet the following statements : 
I Indirect addressing is not possible for 

110 mapped l/0 port addresses. 
2 Pomtcrs cannot be used to access 

memory mapped 1/0 addresses. 
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19. 

3. Fewer machine inslroctioM c~n bo 
used with 110 mapped UO Dddrt:."sin£ 
as compared [(I memory mapped I10 
Jtdtlre~tting. 

~. With an 8085 micropli>0<=-1><11', one can 
acc<."!S :ol I he most S l2 <levkc~ with 
unique addres~<lli tLlitng 1/0 mapped 110 
addr<:$sing. 

Which of the •tat<:menll! given •bnve an• 
e:orrect 2 

n, I. 2 •nd 3 
h. 2 nnd ~. 

c.._ 3 .1nd~ 

cl l and3 

Which one ofthe folic!\• ins instncclion> i,s 
;t 3~byte ini>lructif.n1

• 

n f\,f V I A 

h. LD AXH 
c. J M P2050 
d. MOV A,M 

20. Mnt~>h List-1 (intmupt) "lth Ll•l-II 
(Property) and •clod tho correct answer 
using the c<>de gn·en below the List~ : 

Li•t-1 
A. RST 7.5 

B. RST 5.5 

C. TNTR 

D. TRAP 
Li>l-rt 
I. Non -ruaskable 
2. Eilge sensith•e 
3. I ,e\le) s:~:nsitiv~ 

•L Non-veclnred 

\ B f" D 
n. 1 3 4 2 
b. ~ ~ 3 
c. J 4 3 2 
d. 2 3 4 

21. The conknLS of memory lucatiuns 2tl00 H. 
2001 H and 2002 H arc AAJ r. B.BH and 
CCH respoctivcly. Wh:ol ore the content• 
<If H and L regi.<ters a·l\er executing th<! 
tollnwi.ng insullctions in seq•wncc ? 

l,XI H. 20111 H 
LHLO 2U01 H 

Select the c<IITect :cn•we.· using the cC)cles 
eiv.:n below . 

~olt 5 

a. Contents of I r and 1. registers ure 20 fT 
aml 0 I H. respectively 

b. Contents of H 3nd I regislenl nrc AAH 
nncl BBH. t¢~pcctivcly 

c. Conknts of H >nd I. register.< :•re HBH 
and CCH. rcspc-clivcly 

d. Conl.,.,lS of H ond l.. rcgislen; ••re CCH 
nod BDH, rc-specliwl y 

22. 1·1<>11 clllucy ti.mcs wiU lite f'oiiMiin!!- 10\lp 
he c~ccuto<l? 

LXI B 0010 H 

LOOP : DCX B 
MOV A.B 
ORA c 
JNI LO<IP 

Select tJ1e correct :tn<\ver u.•iog the code 
given below · 
a. 1(1 

b. 100 
c.. 16 

d. 15 
23. Ill 8085, lho .DAA in•tnc~tion is used for 

•· Du·cct Address Accwnuhlor 

b. Double Add Accumulnlor 

c. Dedrual Adjust Accumulator 
11. Direct Mco;s Accumulntor 

24. Processor status word of 80~5 
mkropmcCl!sor b:L< live thgs. \\'11 ich tcre. 
U1e.~efive-Uags? 
>. S. Z. AC.P. CY 

b. S. OY. AC. P. C\' 
c. S. X, 0 \ ' , P. CY 
d. S. l. AC', P. OV 

25. Suppose 64 ~B. ROM IC's, nre ouitable in 
abundnnce. 1 MD ROM \!an he 1lhUlincd 
from 

"· 1610! in n row 
b. 16 ICS ina column 

c, S tCs in o column nnd 2 IC• io a row 

d. None ofth" nbove 
26. Which one of the following ts the software 

intcrcc.:pt of ~Oll5 miCriJpn)CCl!sor'? 
a. IUiT 7.5 
b. RST 7 
c.. TRAP 
d. [t..'TlR 
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27 Match List-1 (Device) witlt l ist-11 
IAPt>li<.1uion) nnd selectth.: correci answer 
using the code giwol below the Li~L' 
l.ist- I 
A. Diode 
B. Transistor 
C Tunnel Diodo 
D. Zener Olodc 
Li~t-11 

I. Amplifier 
2. O..dllutor 

3. Rectifier 
4. Voltage RcgulalOr 

A B C 0 
a. 4 2 3 
b 
c. 
d 

3 

4 

3 

2 
2 

2 
28. Mutch LL~l·l ('I ype of Amplifier/ 

Conlif!uruuon) with List-11 (Chnractensltc 
l'rop..'ll)') and select the correct answer 
using code given below the Lists ; 

29. 

List· I 
A. Common eminer amplifier 
l3 F.miltcr fh llo11er 
C. Common bose amplrJiar 
D. Oarlingtun pair 
List-11 
I Very hm output """listuotcc 
2 <.:urrent gain~ I 
3 Beutmultipl!catinn 
<1. Very high power galn 

A B (' D 

b. 
c, 

d. 

-1 
2 
4 
'2 

I 

3 
3 

2 

4 
2 

4 

3 

3 

Match List-1 ('I ypc of Diode) 11~th List-IT 
(Charncteristics! Applications) and selee~ 
tlte CQrrC:Ct answer usmg the code given 
below the Lists : 
List- I 

A, Tunnel diude 
l:l. Zener djodc 
C J>hotodiode 
D. Schollk')' diode 

30 

31 

l o r 15 
Ltst- 11 
I Rcwrs~ cum:nt varies direct!) wi th the 

amount of light 
2. E.~hjbits negative resistance r~gion in 

its 1-c clmruClleristic 
3. Uses only majority carriers und is 

intenJed for high frequent)' operutlons 
4. Silic(Jn p-n j<motion diode that is 

designed for limlting d1c volroge across 
the terminals in reverse boos 

A ll c 0 
a. ~ 3 ~ 

b. 4 2 3 
c. 2 4 l 3 
d J 2 -1 
Match List· l ( rurameter) with List-11 
(Variation) and select the correct answer 
using the code given belo11 the Lists : 

l.is t- I 

A Electron mobility uround 
temperature 

B. Energy gap 

c Intrinsic currie• co!lcemratiool 
D. Mol~ density (gmlmoll!) 
U st-11 
l Increases wjl.h ternpcraturc 
2, Decrea~~s " i~• l~oupcruture 

ro,•m 

3. Remains constnnl as temperature is 
varied 

A l3 c D 
a. ., l I 

h. 2 3 
c. 2 2 3 
d 2 2 
Match list-! (Metnl semiconductor Band 
Diagr.•m under Eqllil ihrium) 1vith Llst-11 
(T) pc of Contact) and $Cicci the cC>rl\:~t 

answer using the code given below the 
l.ists : 
List-1 

<\. 

B. 
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32, 

33. 

C'. 

List- II 

I Recti tier lnn·LYJ>C 
2 Ohmic to n-typc 
3. Re~tiner I() p·IYJlll 
4. Ohmic 10 p·typc 

A 0 c 0 
a, 4 2 3 

b 4 3 2 
c. 4 I 3 1 

d. 4 2 3 
Cousiuer ll.te folio" iug statements 
Dntu thst arc stored at a given address in a 
rundom access mct110ry are lost 
I. when power !;01:1' urr. 
2. when lhc data nrc read from the 

address. 
3. whe11 nC\\1 data are wrilleJa lll lhe 

uudrc:ss. 
4. because IllS non-volatile memory. 
Which or ~1C stolemcnls I!IVCII ahmc arc 
C(lrtCCt7 

a l :md2 
h. I. 2 and .j 
c. 2 and J 

d I and3 

nte circuit ShU\111 abtiW is the The~enin·,. 
<<luivnlcnl circuit of a ccntl'l:·lllppetl full 
waw teclilicr with diode forwnrd 
l'eSIStnnc.: Rr = I ()() n. tramfonncr 
scconduf) coil n:sistnnce R. z JOO. pea)( 
input voltage Vm = 10 V 
What = lhe values ttf V nnd R,~ 
respt~~tiWI} 1 
n. 10 v. too n 

34. 

35. 

]b. 

37 

JH. 

b. 6.36¥. 1300 

c. 6.36 V.11 5 n 
d 4.54 V, IJOO 

5 ul t5 

Whnl Is the vnlue of the load ang.te 11·h~11 
the po11er uulplll of a salient pule 
synchronuus geuer::ut,r i.s maximum? 
a. o" 
b. 45° 
c. 90" 
d None of the nbovc 
Which one of llle following stntement~ Is 
not C(lrrccJ in respect or synchronous 
machines? 
a. In salient pole mochines. the direct· 

a.xis synchronous reactance is greater 
than lhe quadrature ax1s synchronous 
rCllct:UICC 

b. Th< du111p~r burs ~clp the IJIOtur to 
self-stan. 

c, Short drcuil rutitl IS the rtlli\1 or the 
field curr~m required to J)r<lducc the 
rated vnlingc on opon circuit to the 
rated annaturc current 

d. Th~! V-curve or a synchronous motor 
tcprcs.:nts I he variation in tht armatun: 
current wiU1 field c.,cilal ion al o given 
output powe.r_ 

ln which out or the lo llowing is reluctance 
power developed? 
a. Snhenl pole aJtemmor 
b Nun·Salienr pole alh:rnntor 
c. Squirrel cage induction motor 
d. Transfonncr 
When the applied rntcd voltage per phase 
is reduced to uno-half. lhe Sinning torque 
of a lhree-phnse squirrel cage induction 
motor becomes 
a Il l of lhc imti31 value 
b. 1/4 of'th~ initial val11e 
c. Twice oflhc mitinl value. 
d 4 times of the initial value 
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.19, 

TI1e mquired load torque line Intersects the 
resultant t0n1ue- speed charocterisuc of~ 
3-phase squirrel ~!!• 1nducrion motor at 
poinL~ P. Q and R as shown in the figure 
above. V.~tich is/ar~ dw stable opening 
point($) ? 
a. P and Q 

b Q and R 
c. P :tnd R 
<l Only R 

-:-V\ \(; .. 
-

Wl11cb of lite points on the torque-speed 
curve of iuducuou motor represeut 
operation at a s lip greater than !he I? 

a W 
b. X 
c. y 

J. z 
4(\, tf the load on nn mduction motor is 

increased ftom no load to full load, its s lip 
8lld the. [l<lwer factor win, respectively 
a decrease, decrease 
b. decrease, rncrease 
t_ increase, decrease 

d incre..'tSC. mcrease 
41 , The voltage actually used for setting up of 

the useful iliJX tn lite rur gap of a 3-phase 
iraducuon motor i$ 
a. = Applied voltage 
b > Applied voltage 
c. < Applied voltage 
d. = Rotor Induced ~mf 

42 Whtch one of the following 15 the type of 
single phase inductton motor havtns the 
highest power factor at full load? 

43. 

a Shaded. pole type 
b. Split-phase type 
c. Capacitor-start type 
d Capacttor·mn type 
A single phase induction motor is running 
at N r.p.m. Its $)'nchronous speed IS N,. 1 f 
Its slip with respect to forward field is s. 

44. 

-15 

46 

47 

oof J5 
Whw is the slip wiOt respect to tl1• 
backward field? 
a, s 
b. - s 
c. (I - s) 
d (7-s) 
Whicb one of the following has tlte highest 
nllmorical value in a srcppct motor'/ 
a. Detenl torque 
b. Holding torque 
c. Dynanuc tOr<1ue 
d Ripple torque 
Match l.ist·l (Power Station) woth L1st·ll 
(Component) and select the correct answer 
using the code given below 

Lisl· I 
A. Hyrlroelecnic power st;Jrion 
B. Nucl~ar power station 
C. Steam power station 
D Pressure gasificatiOn comb1ned cycle 

power plant 

Lisl·ll 
L Grate and stokers 
1 Forel)ay 
3 Pressunzed water reactor 
4. Fltlldized bed gasifier 

A B C 

a, I 4 1 

b 2 3 

c, I 3 2 
d 2 4 

D 
3 

4 
4 

3 
In hydro power starions, v.hat IS an 
enlarged body of water jw;t above the 
intake and used as a regtdating reservotr, 
caUed 7 
a. Spillways 
h. Forebay 
c. Reservoir 
d Penstock 
For vanablo heads of near :tboul but less 
lhan 30 metres. which type of turbi lle5 ts 
used in hydro power stations ? 

a, Pdt:on 
b. Kaplan 
C. 'franCIS 

d None of ri1e above 
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4~. 

49 

51) 

51 

52 

Whtch one of dtc tbllowtng parameters m 
an mducllon motor in flucnces tho 
magneuzing reactance to the mnximum 
extent'! 

a, M;iallcugth of the rotor stm.:k 
h Axrallengdl oflhe statnr stack 
c. Radial length of air gap 
d Numl>er of slots on th~ stator 
Which one of the tbllowmg cqunttoos 
represents me energy gap (Eel vannuon of 
stli~on w1th tempemture t"rr? 
a. Ec~n = 2.11 - 3 61h 10""" T 
b Ev(T} = 121- 360x10- 11' 
c. l:c.(T) ~I-ll - 2.23 X I()~ T 

d EG(Tl = 0 7&5 - 2.23 X IIY"' T 

lonsrdcr the ~rrcun !)_[Yen above \\1Jere R 
ts the d1ode lbnwrd re.~1stance nnd R.. the 
load rcsistnnce What rs the avcm~e 
reCii tied Curren! cqual1o 'I 
tt V,.t (Rl ._ Rr) 

h. V,. l t11(Kr+ RL)I 
c. 2V,. / n 

tl V,.l[ ,fi(Rt. I Rr)) 

In a Holl effect e'perunenL a p-type 
semrconductnr sample w1th hnle 
c()ncenu-attot1 P1 tS used 1l1c measur cd 
value or the Hall voltage is no" replo('\ld 
by ;mother p-type sample wuh hole 
concentration p, where r" ~ 2 p,. what is 
the new Hpll vc)ltage VH, ~ 
at 2VI,I 
b 4 v., 
c. (112)Vnl 

d (114)Vrtl 

What ~~ the thcrmnJ nrnaway 111 u bipolar 
Jllnl.:hOn ln:\11SISII1r hia$~~~ In the i!CIII'~ 

rcgron due 10 ·> 
n. Hcaung of the 1Illl1Ststor em1rter rcgton 
h Changes in 'II' which increase.~ wrth 

lcmremturc 
~ Bu.~· cmntcr voltag~ V8" 1vhlch 

decreases \\1lh rise m lempcmture 

53. 

j4 

56. 

7 of 15 
d. Increase In reverse eollcc.tor • bnsc 

sntutntion current due lo dse m internal 
deVJce lempemturc 

lltc reverse saturation current or a Si­
based p-n junctton diude r ncrcases 32 
tunes due to a nso 111 ambtcm temperature. 
If the onginal temperature Wlll> 400 C. 
whm is th~ final tcmpcrlllurc~ 

a. 'XI°C 
b. n•c 
~. 450 (' 

d 500C 

What ·~ the mam diffcrl~1cc bc.tt ween 
MOSFET~ and OJTs in terms of their I­
V chlff'tlCU.>ftStrcs'/ 
a. Current m quadra11c wrth Vr:os for 

MOSFETs and lmear \\1th v., lor 
13.1ts 

b Current m lincru with Vru; for 
MOSF'ETs and exponential with Vp~ 
for BJTs 

c. Current is exponential with Vc<IVAP in 
both Lhese de.vkes, blll rise b faster in 
MOSFITs 

d. Current in quadratiC with V lor 
MOSPE"Is and e;qJOnennal "~th Vfl l·. 
lor 8JTs 

J 
f 

In the circtltl given above. if the output is 
taken rrom poim E insK-ad or node C. what 
11ill be the result"? 
a, An u1CI'ease"' the output •mpedance 
b A rcduc.non 1 n the ourpUT unpedance 
c, An onc,case in the input nnpet4mce 
d A reduction 111 the inr>ut ntlpedi!l'ce 

I r w1 mput periodic signal wtth nun-:reru 
d.c. component is impressed upo11 a high­
puss RC !>trcutl, what 111U be the d.c. 
compon,,nt in th~ output wavclorm'l 
a. Zero 
b It depends on rhc value of the cnpactlor 
c. It depends on U~e vatu~ of the resistor 
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57. 

58. 

59. 

60. 

d. Same as that in input 

A 

n 

What is represented by the digital circttrl 
given above 1 
a. An SR flip-flop with A = Sand B = R 
b. A JK !lip-flop \>'ilh A = K and B = J 

"· A JK flip-flop with A ~ J and B = K 
d. An SR flip-flop \Vilh A - R and A= S 
Which one of th<: lollowing is nol a 
characteristic of CMOS configuration ? 

a. CMOS dev ices dissipate mttch lower 
static power than bipolar dev ices 

b. CMOS devices have low input 
irnpe{(auces 

c. CMOS devices have itigher noise 
margins 

d. CMOS devices have much lower 
Lnlnsconductance than bipolar devices 

For an n-type semicondu~tor having any 
doping level. which of lhe (ollowing 
hold(s) good : 

I. p.,No • n; 

n; 

4. l'nO•t -- ni 

Scl~ct the rorrect answer us1ng !he couc 
given below : 
a I and 4 
b. 2 and 4 

~. J and4 

d. On ly 4 
Match the 1-V characterlslics given below 
whh Gunn diode. Photo diode and Tunnel 
diode. 

61. 

62. 

g or 15 

I /"!-•'";" 
/ v 

,---t-" 
c. r 
Select the correct answer using the code 
gi ve1t below : 

Gunn diode Photo diode Tunnel diode 
a. A B C 

~ B A C 
c. A C R 

d. B C A 

Consider the foll<>wing stal~menl$ : 
In fr\.'qUency response of JJ-stage 
amplifiers. 
I. lower cut-QJT trequcncy is (2 1"- 1) 

limes that of a single stage. 

2. upper cut-ofT rrequency is (2L"- 1) 
lime.. that of a single stage. 

3. lower cut-otT frequency is (21"'- 1 f ' 
times that of a single stage. 

4. upper Cul·O'IT frequency is (21 "- I r' 
times that of.a ~ingle stage. 

Which of the sratemcnts given above arc 
correct ? 

a. I and 2 
b. I and 3 
c. 2 and 4 
d. 3 and4 
Consider the tollowing statements: 
An applied bias voltage in a p-n junction 
diode (n region positive with respect to p 
region) results in 
I. increase in potential banicr. 
2. reduction in space charge layer width. 
3. increase in space charge layer \vidlh. 
4. increase in magnitudeofclcctric tiold. 
Which of the statements given above ar.; 
C<)freel '/ 

a. I and2 

b. I and 3 
c. I and4 

d. I. 3 .ond 4 
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63 

64. 

65 

Which one of the follo1ving stat~ments fs 
roJTcct in rc~pcct of a 13JT'? 
a. Avulanche multipli~-dliou start.. 11lten 

tlt~ rever,;e bia.;cd colleetor-ba~e 
voltago Veo c~unl s the avalanche 
breakdoWn V()liagc BV COO• 

b The early cni:ct stom ns soon ns ptmch 
through nccurs in a transistor. 

c. Th~ small signul current gliin hr, = 

lurs• s ignal currem gnm hr.R when 
lllFE/illc = 0. 

J. In the CE moclt. u transi; tor can be cut 
()ffby reducing In to tcru. 

a(t) 

Which one of the following is the impulse 
r.:sponse of tt mtllcbcd fi lter t'or u singltt 
s(t) of the I)'JX' shown ubovc~ 

h(tl 

a, 

b. 

T 2T t 

hltl 

---~T:--lo~t 

Which oue o l'lbe tulhl11'ing is tlte uvailnble 
uoisc power prt>duced by a uoisy resistur 
K~ [k = Bult1.mauu Cousttlll~ l' 
l'empcrature and B Bandwidth) 

Q, k-1'13 

b ~~111 

,._ ~ kTBR 

66. 

67. 

'' or 15 
d. 2kTBR 
11. DSB-SC signal 1 gunenn~u usiug the 
carrier signal cos (w. t + 0\ and modulating 
s ignal tt1(1), What is the envelop deh:'ctor 
output ofthis DSB-SC stgnal? 

u. m(t) cose 
b I m tt \1 
C, lll( I) IUUH 

d. m(t) sin 0 

A,CNII,l 

Which one of the luUowmg sets correctly 
descn,es the Block I und Olock II in the 
dillgrnm given above'! 

Blork I Blod; II 

A. lmc.grntot l'hnse modulator 
fl. lmcgrllll'r frequency modulutor 
C Di O'cr"numor l'ltuse modulmor 
0 . Diffcretttiator F'requcnC)' moduiHtor 

68. The ongmal spectrum uf u messaso 
C<HllttiTts. I 00 117, 200 II• fre<tucnC) 
components. it is amplitude modulated by 
a CllJTier of 0.9 kHz. Which frequcnC)' 
componl~lts are containQJ in the amplitude 
m0<1Ult11CII signal ,-pectnun'' 

70. 

a. 9()0, ltlOU and I I 00 Hz 
b 700, XIKI and 900 liz 
c. 700, 800, '100. I 00(1 and 1100 111 
d. I 00. 200 and 900 liz 
If two stgmtls modulate the sume currier 
with uiOerem modulation depths of 0.3 
and 0. 1) , the resulting modulallon •it;nnl 
\\ill 
a. I>~ ovcr-mO\Iulotcd 

b. ltuvc th~ resulwnt ntodttlatiun limit<.Od 
lu I (I 

c. hnv~ the resultnnl motlltlntton indc~ 

around O.R2 
d. hn\·c the rcsultnnl modulntion index 

around 1), 95 

Mutch List-1 (ModulattOn) '"ilb Lis t-11 
lJ\ ppl icationl ant! select the correct utlswer 
~ing. t.hc cndc given ltclow 
Lisl· I 

J\, Wind haud I'M 
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71 . 

1'2. 

13. Nnrro>~ b~md FM 

c. i\IV( 

D. VSB·AM 

Lisl •U 
I. 1\ tobi le communie<ltor 

2. Superionposilinn of binnoy wavelonn 
on canter 

' .>. T\ vidoo 

4. T\ ,.utlio 

5 Medium wave bro;uk:asl 
A 13 c D 

•• 4 3 5 

b. s 2 3 

c.. 4 1 s 3 

d. 5 J 2 l 

Match Li>L-1 tParJmch:t) WiUo Ll>l-11 
(Value ofParnmcter) and sck'Cl Ute corroct 
nn•wer using lhe code given below: 

l.ist-1 

A. Llne blanking period 

13. Lin~>synchronizlotiou pul<c 
C. Verliealliold pul!c 

D. Duration of lll'<-eqwllizing t>uls.; 
~eqU~'IICC 

Wsi - U 

I 4.5 lcl 4.9 "" 
2. 155 to 165 ).IS 

' ,, li.H In 12.3 I"' 

~ - 20.000 "" 
A B c D 

"" 3 1 ~ 2 

b. 4 2 3 I 

c. -· 4 I 2 
d. 4 ' ~ 2 
Which of the following are the advantages 
of I'M bi'O>dcnsting over AM 
broad03st.iug? 
L B<tleJ' SiN ralio 
2. Not subject to signal !luling 
3. Po>~er d~icicncy is supcrihr 
4. Demodularlon i• simpler 

:>olect the correct onswer u~ing the <Xlde 
given below: 

a. I ~t~~d 2 
b, I. 2 and~ 
c. 2, 3and ~ 

73. 

74. 

75, 

76. 

77. 

10 nl 15 
d. I and 3 
Coruid~r tho: follo1~in2 .;t.>temenb oboul 
uno log datit-digilal ;ign~l : 
I. ,'\mplifien used in repo;(ller~ produce 

additive no~e. 

2. FDM i• used for ,llgil~ l signnl• 
whcteas TDM i.< used 1\~r analog 
sigo<~l~. 

3. With TDlVI there is no intormodulatiun 
nui.~e- whctc,M llUM i~ a conccm for 
PI11VI 

4. Couve,..inn I<> cligit:ol signnllins nlluws. 
the use nf eflicien1 digital switching 
techniqut.~. 

Which ol' the ~tatem,enL< gi"en ahove an: 
co rfl!Ct'l 

a. I and 2 

b. ~ and 4 

<.:.. I , 2 ant! J 
d. I, 2. ;land 4 

A resistor connected across the gate and 
cnlloode of on SCR 
a. increases dvidl roting of SCR 
b. increases holding current ofSCR 

c. decreases noise immunity of SCR 
d, incrtases tum-oll' time ol' SCR 

Tum-on of o th)•·istor lake.. place when 
a. anode to caU1odc voltage i:s posi:Live 

b. anode to eoU1ode voltagd is negative 
c. tloere is a positive current pulse at tlte 

gotc 

d. Uoc anode to cathode volt.\@" II< t)(>Siuve 
and there is n positive curn."llt pulse at 
tho gote 

Which is tho most· suitohlc powcr device 
for high f~uency (> 100 ld~z) switching 
application? 
a. Power MOSFET 
h. Bitlolor juncthm tnrnsfcr 
c.. SclioU~-y diode 

d, l\'llerow ave t111ns istor 

M~lch List-1 11~th List-11 ~Jld ~elect the 
correct aMwer u.~ing ihe code given below 
I he Li•1s 

l.ht-1 

.-\, Volt.1gc •ource inverter 

B. Cum:nt source inverter 

C. l'lu:~c controlled 11.c. to d.c. converter 
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78. 

79. 

~(I. 

D. CycJoc<>nvcrter 
Li$1·11 

J. Lhrge •out'Co induCUltiCI.I 

2. POOl' JtO\\ Cf f·~~,.r 

3. !Jwt't'let· limil 

~ - Small source iuduc~1nce 

A c 0 
• . 4 2 3 1 

1>. J 1 4 2 
c. 4 1 3 2 

d. 3 2 4 

Jn a dual conwrtor. Uto· drculoting CUJT<.'nt 
n. allows smooth ruvcno I of load current 

but incrc3scs the rQiponst.l tim_, 
b. allow• s ntooth rw..-sal of load eurr<:nt 

wiUt improved speed of "" PO"-'" 
c. does not allow smooU1 reversal of load 

current . but reduces the response time 

d. nows if chore is no interconnoctin~ 
indo~ lor 

Match l.ist· l (lype or Fouh) with Lisl·fl 
!Type of Prote<:tiuu) and select lite correct 
answca· using tbc cod~ givt:n beiO\\ : 

List· I 
A. Extemalphase faull 

fl, Fallh8 betWeen phaRcs 

C. Phose 111 corth foull 

D. nverheo ting 

List-11 
I. Ditforenlial protection 

2. &rUt fault rola y 

3. O' er-current J>rotoction (uwerse time 
clclay ole rcl4,·) 

4. TI>ennal rcloy 
A B 

"· 
b. 4 

c. 3 
d. 4 

l 

2 
2 

c 
2 

I 

2 

D 
4. 

How mnny re1ays- are used to detect inter 
phase foult of a Un-.<t·lin<osyst<:J.n 'I 

a. Une 

b. Two 

c. Three 

d. Six 

81. 

82. 

83. 

84. 

85. 

11 ul 13 
Which is lho main rcloy for protecting up 
to 90~. of the transmission line-length fn 
the fom 3rd diJCCtiun'/ 

a. Directiona l owr-current n:lay 
b. Mho relay 

c. Corricr·CUn'\.'111 protec~ive ,..,loy 

d. lmpetlanc<> relay 
High voltage d.c, lr:rnsmis.sion requlres 
filters for 

-a, current harmon1cs on a.c, side voluge 
h:trmonic.~ on (Lc. side 

b. YOII'4!e ho.mtonics on a.c. s ide ond 
eurn;utlunnonics on d.c. side 

c. voltoge harmonies on botl1 o.c. ami d. c. 
sid..s 

d. current honnoni<:s ~'' bo~1 ~-"- and d.c. 
s ides 

If p is tile pulse number ;md n is au integer, 
what is the order of harmonics on 11.c. !ldc 
and d.c. • ide of an HVO(' onnverte11 

a, (np -t I) and (np - 1 ), respectively 

b. (np - l) "nd. np. respectiYcly 

c. (np + .1) und np. rospcctlvely 

d. ( np .L l ) und np. ruspcctlvoly 

Jn • biMed sl•p·glild..J p·n junction. what 
i.s the correct ~-pression for the 
e<Jnil ibrium contact potential (Yo)'! 

a. Yo ~ Vrln. (NN'No n : ) 

b. V u = VTin (N,,NA n ' ) 

c. V.,= VTin( N,Nn n;) 

d .. Vo= Vrln (n ~IN,Nn) 

wb.oo: VT .c T/q, T boing tl1c lemper:~turo, 
q the electrQUic charge. l>-A and No are the 
doping levels oJ tl1e p and n region 
t"Spoctivc.ly. ;u~d OJ is tho inlrinsic corri...,. 
cunccntrntion~ 

1n an unbiased p~n junction. tbo junction 
cnn-ent at equi librium is 
a. duo to diffias ion of majority carri01~ 

only 

1>. doe to difl'u.•ion of minority carriers 
01tly 

c. 1.ero, hecaro•e equal ond opposite drift 
and diffusion <uorents for electi'UIO.S and 
holes cross Ute j unction 

d. ~ero, hecaus~ uu charg.:s cross tloc 
juncliou 
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86. Wllat is Ote purpose of impedance 
matc-hing between the uutput of previou! 
stnge nnd input of o~t ,;tagt in a c<lscltded 
""" p !ill .... 
n. To ac.hitve high efficiency 
h. To adlitVc t\tll~imu1n lf(,Wc:.1' trtmstt.~r 

~. To o~hicvt. n:duc.ed distortion 
d. To oehieve reduced noise 

87. fn • hridge. n.c. 10 d.c. converter tk'lmg p-n 
di<"lt:S, if lbe in(lUI voltage is \- $in (o}L 
what is the pt;<!k invme voltage JCJ'OI>S any 
diode? 
... v 
b. 2V 

.:... V/2 

cl. Vl ./2 
SR. \V'"by is nn tJXlc."'ITI!tl p:1'M rt'SiSIHr used in :a 

vvha~ rogui!Jior'~ 

n. For "hmt ci-nloit prote<.:tion 
h. for ut~reasing the ctn-renl thttJ 

reg11latnr c.1n handle 
~. For incn:osing ll1e nUIJllll VQII:oge 
<1. For improving the regulotion 

R9. What is tho pow<:< J:octor of • •utglc pi"'"" 
n c, regulntnr feeding :o resistive lon<1'7 

" ' (Per unit P'"' er)
2 

b. (Pcrunil powcr)tr-

(Per unit Power)' 
c.. Ji 

(Per unit Power)"' 
d. 2 

90. When the firing aru~lc u of a !ilng l~ phase 
full\' conttollcd n:ctilk-r feeding con>lanl 
d.c: cnrrenl into the lood i• 30°, who! is tho 
displ~cemenl faotoo ufllte o-ecti(ie.'! 
:& • 1 

b. ().S 

.:. .J3 
d. ,fi, '2 

9 J. For I he f>ruc voiiJig~ output. wlticb (mo of 
the following hn~ larger peak lnv""'e 
vnhage of the thyrislor'l 
n. Single ph;t,e t'ull wave centre tapped 

circuit 
b. Sin11le phase l'ull wav.: bridge eir~uit 

c. Three phase full wave cridge circuli 

1 ~ ol 1 ( 
d. llu-ec pltase full wave centre lll(lped 

drcuil 
Y2. In o three phru;e voltage •ou= inverter 

operatin& in squrorc Wo1·e mode. the output 
liu< voltage ·~ ftco fmm 

''· 3"" hannonic. 
b. 7'h ha1monlc 
c. lith flnffilontc 

d. U 11
' harmonic 

<.R A fully controlled line communl;lted 
conve~1~ function• as an invmor 11 h<11 
firing anj;lc (a) is 111 the t•onge 
•. 0°- 90" 
b. 90A - 180" 

c, 9()' - t ~o'' on ly when there is • 
suiL1ble d.c. $OUI\:e in the load 

d. 90° - 180° only wben it supplies • 
bod.. u.m.f. loot! 

94. Which of tho following d~·kes ~huula be 
used -as a switch an a low pow~r switched 
mode power •upply ( SII·II'S)'I 

a. GTO 
b. MOSFUT 

c. TRL'\C 

d. 11fYRISTOR 
95. Assertion (A) . Under Vif •'Ontrol of 

induction molar. U1o mnxUnum va lutj uf 
lhe developed torque rem•ins conslant 
over • wide mn11e of sp'eed in the snb­
syncllrouous •·egion. 
Reasou (R) ; I he magnetic lJtL"- is 
onaiuL>iucd alntosl cunstanl ol llt~ r31cd 
value by keeping the mtion V l' consL>nl 
owr the considet-ed $peed rMge. 
a, Both A and R ore indivlduo lly tro• and 

R is the coml<!l expL'Ination of A 
b. 13olll A and Rare Jt~dividuaUy true but 

R is not th~ cot-r~l explanation of A 

c. A is true but R is false 

d. A as false but R is rrue 

91), Assenion (A.) : Bus admittance marri.x t• • 
sparse matri:<. 

Reaso11 1 R) : Ln load flow studies. one of 
the bus10> Is taken all • sl.1ck bus. 

11. Both A ~nd R 3l'e ind.i\liduall~ true and 
R ill lhu com:ct"-'<plnnation of i\ 

b. BoUt A and Rare Imlfviduall) truo but 
R is not the corl'<:cl explanation of .\ 

c. A is true but R t$ fulse 
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d. 1\ is fal!e but R is true 
i\s~ertiort (I\ ) : Pre.cnt duy. ~urge divertcr~ 
use nonlinear res1!Stance elements.. 
Re;~son (R) A non-line~r r-e~1stance 
elemenl hns the property !hot il• resist:mce 
inoreasc.s ~hArply a~ 11\e ' 'nhag<> acr'oss it 
iJJt:tc:a~eN. 

ll. Both A and R ar·c inuivitlMlly Cruo and 
R is the C<ll'r<:dexplnnotiun uf A 

b. Doth .\ niH! R arc individually true but 
R i~ not the ccrrrect e~plnnntion <If A 

c. A is true but R is f:•lse 
d. A is 'fn l!c but R is true 

98. As.<ertion (i\) : In JFET, thu phcuomcouu 
of thermnl rnnoway i• not ub~cr''f.!d .rruuncl 
room lemperahrrc:. 

Reason (RJ : The hen! clissipation m the 
semiconductor incrc::ases its temper:rtw·e 
whic.h increases the carrier mobility wiUt 
temperature. 
n. BoUt . \ ond R Me individWIIlV truo und 

R is the con-ect e:tplanation ot' A 
h Both • \ ond R arc individualty tnJe hut 

R rs not the correotcxplnnation of A 
c. /\ is true but R t~ fal1oe 
<I A is fa l!e but R i$ true 

99. Assertion (A) : In a good power supply. 
the percentage ofvol~1ge regulat[<m should 
be dose to zero. 

ReoSQn lR) : L.ero percentage regulatioJt 
m""'" that ~h .. 'rt> will be no change In 
output volt.ngc if tho load rc:sislance vnrics 

between the limit,; 0 to" , 
'~ Both i\ ~nd Rare individually true ru~d 

R is the con,c.t expL•nution of A 
h. Both A ond R are individually ln~e htn 

R is not the eorre<ot c.xplanation of A 
c. A i§ true but R •~ faLie 
<L A is t'o lse bttl R is true 

100 Assertion (.\ l : i \ clomping network 
produce11 on output 5tgnol which is o 
replica of Ute input si.gn•L 
l{eason (R) : A clamping circuit removes o 
port of Ut~ inputsiguoL 

n. B<•th A and R arc lndividW!II)' truu and 
R u the correct c:<planution of A 

b. Both -~and R •rt individually tr""' but 
R is n111 the cor.recl cxplnnation uf A 

c. A is tru~ but R is false 

13 ot IS 
d .• \i• fnlse but R inruc 

101 M>ertion (i\l Stack is • group of 
memory location• tn RAM U$ed for 
tcmpurory ~Wrage of c1Jlt11. 

Reason ( R) : PliSH and POP instructions 
are UKc.d lu scn£1 ''"..J tClr icve data fi·Om 
•tnck. 
u. Doth Ajllrd R ore imlividuolly tr~c and 

R is the c<tm:<:l C;ll(fll3nolion of A 
b. Bulb A mod R arc iJtdividuall} true but 

R is not the ~;orrectexplanntion uf i\ 

c. A is true but R is f•lse 
d. A ;, false but R i• true 

102. Assertion (A) : In fre<Jucttc)' divi•ion 
multiple.~ing (FDM), difJi:rent currier> are 
l11 be gener:rted f<Jr d ifferen1 chonnds. 
Al1o. cracb chrumel O<.'CUJ>ic~ J s<:pllfllt.c:. 
frequency b:tnd nud di.l'fcre:tll bllnd ra.s. 
filters ore employed. 
Rcn.~on (R) · The non·linenrities in vQrlou$ 
nmpliliers frl' an FUM system do not 
prmluce ftny hannunic tli8tllrtiml nnd there 
is no _inted~c:::l'cncc withll~ lhu chftnuel~. 
n. BoUt A and R nrc individllnll) lttlc lmd 

R is the c<\m:ct e.~pl:m"lion uf A 
b. Bodr A .end R. an> individually true hut 

R is nor the eorrec:.le>\plnnrttion nf 1\ 

c. ,\ is true hrd R Is false 
d. A is fnbc lint R is lr·uc 

103. A los.-l""ii cylindrical rotor ~yncltronolts 
generntor i.• floating on the system hus-bnr 
atler he1ng, prC)petly <ynchrQnised •nd i., 
11llmin!! at U()-Jnad. NI>W. if d)c prime 
mowr is aoling os • mc<>hanicol looo on 
the machine. then 
a. tho Wr'!UC developed by lhc mnchine 

will n~l in th~ snme direefion u fhe 
primo-omu\'t:r torq\Je 

b. the torque developed b~ tl1e mncl1inc 
11 ill act in the opposite dire.otit)ll to drat 
of lh¢ p1·itnc-mov·a hJrttuc 

c. the Mrcltiue rotOJ' (\Ould lirU·back anti 
i11ducecl emf would lng lx:hind the 
1emriMI voltage 

d. the mnch in.e n>tor W<lulcl nv,-:n;peed im<l 
tho induced emf wnuld leod ~re 
terminal vollltge 

t\!4.. Th• resultant flux dttt~ity U1 th~ •ir gnp r•C 
• synohrouous gencrotor is the lOWC'>t 
durin~ 
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a, Open circuit 
b Solid short circuit 
c Full loud 
d. Hald loud 

IllS. A 50 kW d.c. shunt 11101or is loaded to 
dra" rat~d armature current at any g.iwn 
speed. When driveL! (i) at half the rmcd 
SJJCCd by armature vollllgc contml und ( il) 
at 1.5 time.~ the rated speed by ticld 
cuntrol . whm nrc tho apprmdma!e O<ltput 
powers delivered by ~~c mutor? 
a, 25 ~Win ( l )nnd75~Win (ii) 

b. 25 kW In (I) and 50 kW In (ii) 
c. 50~ Win (il nncl 75 kW in (ii) 
d. 50 kW in (ittmd'50 ~Win (li) 

I 06. ror u constant supply voltage, whm are th~ 
dTccts of inscnlng u series resiMnncc Tn 
tho r.~ld circuit or 11 d.c. shunt motor. on 
its speed nnd torque ? 
a. Sp~cd will decrease an\! tho torc1uc wil l 

decrease 
b. Speed will incr~ase und the torque will. 

incre:lSc! 
c. Speed wiiJ mcreasc and the torque wil l 

decrease 
d. Speed will decrea<e and tl1e 10rq11e will 

inct~asc 

I 07 . Coosider the lbllowiu~ stmemems 10 

1C$pCCt Of d. C. genermurs· 

108. 

I. Compensating wmdings arc loc:1tcd 111 

tcclh cut out in main poks 
2 Compcn~ating wu1cliug;~ ar~ scn~s 

connected $0 that t.h~ ammturt' reuclitln 
is aide.d 81 ill!} loud. 

3 Compensating windmgs ure ;eries 
oonn~cted fnr l'ilncellmTt1rt of lhe 
annatnre reaction at any lond. 

J ComJ)Cnsnting winding:; nr~ shunt 
connected to nid. th~ poles at nny lond. 

Wltich of the s tlltemcrns gtven nb<we nrc 
currcct'l 
n. I and2 
h 1. 1and3 
c. I and3 
d 1. 3 and 4 

A sdf-exciled d.c. ;hunt generator. driven 
by il5 prime-mo~er m the rated sp~ed I ils 
111 build up Vtlltagc n<:f<ISS its terminals at 

It u f 15 
oo·load What reason can 1x: assigned tor 
this' 
a. 'I he field circuit resistance is higher 

thllll the critical resistance 
b. 1lt~ init ial shunt Held emf docs not 

ttssist the residual resistance 
c. On~ of the inter-pole connect1ons is 

r.:vcrsed 
d. Th~ brush·a.~is shift> slightly from the 

geometrical neutral n,;, of' the machine 
1()9. Wuve winding i> elllllloycd ih u d.c. 

mnchincof' 

110. 

a. high ourrent and I0\1 volrng" mring 
b. low curtcnl uml high Yollugci'Hting 
c. higJl current nnd higJl voltage rating 
d. lo11 current and low voltage 1'11Ltng 

c 

tV\ ,,.{\ 21' 

~ v v 
b J\ ~ (\ 2n rv v v\J 

D. 
An elementary cylindrical machine has 
one f'ull-pltch cC>il in the stnwr but the 
rotor mny have (i) two poles ur (ii) four 
J1Uies ofperntancnt mugntts 

The time-varying volmgc tJm1 could be 
uu.luccd 111 the stator coil for one rotation 
()fthe rotur. while Ut~ rotor is rcvolvmg 111 
a constant sp<!ed <tre shown ill the flg.uro:s 
A. £l. C nnd D nllovc. 
Sele<:L the oorrccL combination 
code given hclow: 

2·p.liC 
a. A 
b. A 

c. c D 

lrom the 
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Ill. 

112. 

d. B c 
What is the lltnn of Ull nir gnp flux density 
11 nvetorm M un ~ncomp~.n~ut<d 2-pulc <I.e. 
shunt motor at lull·.load? 

"· 

b. 

I J 
2n 

I ) 

d. o(._--Jf 
'Which lhrc<-phasc connection can be used 
in a lransfomter to inrroducc a pha« 
lliflbn'llcc or 30° bctw~-cn its output tutd 
corresponcline input line volluges'! 
11. Stur-delta 
b, Stnr-Stl•r 

c. Dclm-<lclta 
d. Delta-zigzag 

113. What is the cflicicncy of an auto­
ll'ansfom•e.r in comparison to tl1at of a two­
winding ttnns tOnncr of the snmt mling? 
a. Slightly less than that or a two-winding 

transformer 
b. Same us that of n 1\lo·winding 

ll'un~l(tnner 

c. More ilutn that ot' " h\lo-winding 
1 ransrurmer 

d. i\.s low as l f5'" or tlte enici~n~y of 11 
rwo-windlnJ11Tnnsformcr 

114. A two-winding IT8nsforml'r is .:onvet1ed 
into ru1 auto-trnnsformcr. If w~ apply 
llllllitrvc polarity nnd suhlractivc polarit) 
lo~ the connections, then lhc secondary 
voltage is 264~ V ru1<l 2160 V. 
respectively. What is tbc mtio of primnry 
to secondary voltage on th" original 
tmnsfonncr~ 

e. 6(o : 54 
b. 54 : (,(, 

t. 10 . l 
d. I : I IJ 

115. Per~entagc resistance and percentage. 
re.nc:tnn~c of a lrnnsfonncr arc 1% iind 4~,. 

ll(o. 

117 

1 ~ · • 1 15 
respectively. Whot is voltage re~ulmitm ot 

power fioctm 0.8 lngging ani) 0.8 koding'! 
a. 2A% oml - 0.8%. 1\!specti\1ely 
b. 3.2% nnd -1.6°~. respective Is 
c. 3.2 ~. Htld - 3.2"'.. respectively 
d. 4.g% and 1.6%, rospcctivcly 
If I' 1 nnd 1'2 be the imn and CQppcr li)SSI!S 
or a translonncr :•t t'nll loau. and the 
maximum ef:lkiency of the ll'ansformer is 
at 75% of the lui I load. then what i~ the 
ratio of l'o and I', ? 
11. 9/11> 
b. 11)/16 

c. 3/4 
d. 3/ 16 
If I h~ iron coro of ll lrnnslonner is replaced 
by nn air coro. then the hysteresis losses in 
the transformer will 
a. Jn,reasc 
b. de.:rea.~ 

c. remain unchanged 
d. become 1.ero 

118. 111c equivalent clrctlil of n tmnslonncr has 
th~ leakage renctances X,. X, and tb~ 

magnetising "':wl:lnce Xm. Whui is tltc 
relutiunship bctllccn their magnitudes'! 

a. Xo>> X1 >> X,. 

b. X, << X : << X"' 

c. x, .. ~>> X.. 

d. x , ~x·~<< Xn, 

119. If the voltage applied to a transformer 
j!fimary is increased by ke-eping the Vir 
l'llt ion nxetJ. then the mugnetlzing Cll!T<:OI 
and tltc core loss will. respccuvdy. 

a. decrease and remain lhe >1Une 
h. 1ncre.a~'- <tnJ Jecret'lse 
c. remain the same and remain lh<l same 
d. remain the same :md 1ncnmsc 

120. Which umong the following magnetic 
materials has rho highcst energy -product to 
ma~c it a pcnnoncnt magnet'/ 
tt. Alnico 
b. Ferrite 

c. Sumariwn Cobalt 
d. ( 'nbah-lron nllny 
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